— A
H = 0 AF AF S & Al A
20188 & = 1 3 APt HorH
2M: HotH
I F0 OHE AHIA H2(HHH)

Celr EBE0 HOH 29 GEERED
SAH-AH -2 (SA) - HREAY - BES Ol A o4 I AR Hws2
Aot 1,491,516 1,000,216 491,300
F0l 0= MHIA MZB(EOHH) 330, 146 278,846 51,300

S50 HoH 29 330, 146 278,846 51,300
22A4E L HHSXE2(HorH) 137,994 88, 194 49,800
401 AlEHIL 20| 64,816 15,016 49,800

01 Al Bl 64,816 15,016 49,800
SS0ASAA 2t WO &X 6,800 0 6,800
OFA 2|28 & Sad FbI 26,000 0 26,000
OFA S LED Al 17,000 0 17,000
FOUXXMEHZY 15,000 13,500 1,500
301 LB A 1,500 0 1,500
09 HALAHIEA = 1,500 0 1,500
OFUXNXAA XNOHZ2AH WEXSH 1,500 0 1,500
FOEHOZA XYL (HeHH) 880,000 440,000 440,000
ZEJUE NIML(FHotH) 880,000 440,000 440,000
APR2 FOUSSAAIS (H D) 680,000 440,000 240,000
401 Al HI L 201 Y] 680,000 440,000 240,000
01 Al&Z bl 679,000 440,000 239,000
Ot =2 & Xl (L=160m) 20,000 0 20,000
2512 423 8l (L=50m) 10,000 0 10,000
Ox&12l di4=2 4l (L=50m) 13,000 0 13,000
OZXd4e =222 L L2 HU (s EZ =5
Om, Ui 2= 2 A H|L=55m) 13,000 0 13,000
O2Y32| s2EZE U IA2EMNRI|(s2E
ZL=40m, OFA 2 M 2 J|A=160M") 13,000 0 13,000
=22l =& (L=130m) 10,000 0 10,000
OX&4el =4 (L=800m) 15,000 0 15,000
OXA22| NMEAH (LtE=SAI|L=15m) 11,000 0 11,000
2322 OS2 AN 2] (L=360m) 15,000 0 15,000
O&z2el th4=2 4 Xl (L=85m) 12,000 0 12,000
O3 &3l &2 4 XI(L=45n) 7,000 0 7,000
Oo&gtiel Z& 2 =2 & H| (Z&1L=30m, b ==
2 A H|L=50m) 20,000 0 20,000
O24132| OIS LA M 2I|(L=250m) 20,000 0 20,000
OeE3el i &==2 & Xl (L=60m) 20,000 0 20,000
o244zl sti42Z=4 (L=300m) 5,000 0 5,000
oeE2zel 2= Jdl(L=120m) 15,000 0 15,000
OXE2A2 Hi£=2 & Xl (L=150m) 18,000 0 18,000
OsU3el 22=s3 a8 12,000,000 12,000 10,000 2,000
03 AlE 201 YI 1,000 0 1,000
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FOIHOZA XL (Hored)
2HAS NN L (Hore)

SA-EH A (SA) - NRAE - BES Off ok 24 I E N Husz
OAlE S| 1,000 0 1,000
ARE FHETAS (HOHH) 200,000 0 200,000
401 AlEHI L 2T 200,000 0 200,000
01 Al&HI 200,000 0 200,000
O523 A £0i=7(45m) 30,000 0 30,000
0822 &2d »di=7(20m) 20,000 0 20,000
O2%2 MI& === (60m) 30,000 0 30,000
O2g1 2&a +=7(80m) 30,000 0 30,000
O2g1 =2 =7 (30m) 20,000 0 20,000
OlH& Aot 2ai=(100m) 40,000 0 40,000
ORAHLAGHAE 205 (80m) 30,000 0 30,000




